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and its part number on answer book, as given in the question paper.
SECTION-l Jil»

2. Attempt any five parts.
VWrite the use of Kail Wood.

Define Shrinkage of Wood.
Define Smoothing Plane.

Write the use of Try-Square.
How many Gripping Tools?
Describe four Safety Precautions.
Wi} Write the method of seasoning weoddn water
{viil) What is meant by Knot of Wocd?

3. Attempt any five parts.

) Write the use of Shishum Waood

i} How many kinds of Nails are?
(i) Write the use of T-Hinge.
{iv) Write the kinds of Wood Screw
(vl Define Latches.
(vi) Wrile the use of Glue.

(vii) Define Hardboard
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SECTION-Il 5107

NQOTE: - Attempt any three questions.

4. Write the kinds of Hardwood.

= Explain five parts of Cross Section of a Stem.
6 Define Mortise and Tenon Jeint.

7. VWrite a nate on different parts of a Tree.

8. Define Plane and write the use of Trying Plane
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MNote: You have four choices for sach objective type questionas A B, Cand D. - ,:J“’,'fa.-.:. g 2y iy

The choice which you think is correct, fill that circle in front of that question number. Use marker or pen

to fill the circles. Cutting or filling two or more circles will result in zero mark in that guestion. Altempt as

many gquestions as given in objective type guastion papar and leave others blank., No cradit will ba awarded

in case BUBBLES are not fillad. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A AUy

(1) Cne defect of Wood is:- e JEOvss (1)
(A) Trunk ¥ (B) Knot &% (C) Bark Ju (D) Leaves &

{2) The part of wood which is rather soft than the inner part -ugéfu' e Tt e ,ﬁn.:.a-f_,-f‘“’l} ui'ﬁ..-nmﬁ‘;_:’}:" (23

s called:-

(A) Combium .2 (B} Bark JiF (G)5ap woed Lff;p{ (D) Hard wood LE:J;'I

(3) The kinds of Wood Chisels are:- wirdifums @
(A 2 By 3 (C) 4 (D) 8

(4} Boring tools are:- sttt nd S ()
(Al 3 B) 4 (€) & (D} 8

{5) The parts of saw are - _;,E.L:r.i’.ig,ﬁ;'- (5)
iA) B B) 7 (C) B (D) 9

i} The parts of Hinge are- w2l AT (&)
(A 2 (B) 3 c) 4 () 5

(7) Central area between Arc and Chord s called:- - b3 Lh.,_rilg-wf}.u:'._;:; )
(A) Sector ,-k: (B} Segment ‘.-AE" {C) Tangent _rL° (D) Radius .

(8) The kinds of Wax Polish are:- ~drGdser (8

(A) 3 (B) 4 C) (O] &
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